GEOGRAPHY TERM 6 YEAR 8 HOME LEARNING PACK LESSON 4

Do now
1. Physical water scarcity is ……
2. The continent that faces most economic water scarcity is…
3. Explain why double glazed window will help reduce greenhouse gas emissions. 
4. Suggest two other ways we can reduce greenhouse emissions in our homes?
5. Within an ecosystem, a consumer is an organism that gets its energy from producers or other consumers. There are three types of consumer: c……., o……….and h…….
6. There are……..layers of vegetation in the tropical rainforest. 
7. If the bars get smaller as you travel up the population pyramid it means…..
8. If the bars are wide at the top of a population pyramid it means…..
9. Beach nourishment only has a short lifespan because….
10. Managed retreat can cause conflict because…..
	Natural Resource
	· A natural resource is something that occurs naturally that we can make use of.
· There is an abundance of natural resources in Russia. 
· It produces 20% of the world’s natural gas and the worlds leading producer of oil
· Russia is self-sufficient in all major raw materials (e.g. Iron, Bauxite)

	The problem
	1. Many resources are in Siberia, which has very harsh weather and extreme cold temperatures.
2. It is very hard to work in these areas as steel become brittle at these low temperatures
3. The roads are in poor condition due to the weather, this is not good when they are trying to export goods
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DISTRIBUTION OF RUSSIA’S NATURAL RESOURCES
Russia has an abundance of resources. 
Russia has lots of coal, this is found……………………………………………………………………………………………
Natural gas is mainly found ……………………………………………………………………………………………………….
Iron ore is mainly found in …………………………………………………………….. More specifically near ……..
……………………………………………………………………………………………………………………………………………………….
Finally, petroleum is found…………………………………………………………………………………………………………
A problem for Russia is that many resources are in Siberia, this is a challenge because……………. 
………………………………………………………………………………………………………………………………………………………. ……………………………………………………………………………………………………………………………………………………And this is due to …………………………………………………………………………………………………………………………..
As a result ……………………………………………………………………………………………………………………………………...


TASK: Look, cover, write check the knowledge organiser below and try to complete the table from memory.
[image: ]

[bookmark: _GoBack][image: ]
image1.png




image2.png
Solutions to Using Oil (Renewable Energies)

HEP (Hydro-Electric
Power)

Hydroelectric power is also known as .
It is created by.

Solar Power

Biomass

Wind power

Nuclear Power
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Is Russia too Big? eguar an

Can Russia - or any nation-state - ever be too big? More territory (land)would lead to more
resources. Surely you could never have enough? Well Russia thinks not.

Fuel deliveries to Siberian towns are estimated to cost £350m a year. It would be more efficient
to fly people in to extract oil , gas, nickel, gold and diamonds in Siberia rather than the fully
functioning cities in such extreme conditions.

Of the 100 coldest cities in the Northern hemisphere, 85 are in Russia a, ten in Canada and five
in the USA.

As soon as these Russian cities were established, they, and the communication lines to them
began to break down. Everything is in need of constant repair due to the extreme cold. At -35C
steel structures start to collapse.

Siberia was not so much the region of the greatest, wealthiest resources remaining in the
world. It was the bottomless pit in terms of the money required to keep cities in the region
working so the natural resources of the region could be extracted. Clearly the size of Russia has
its problem. In December 2002 President Putin’s economic advisor summed things up as
follows; Russia has 11.2% of the world’s territory, but only 2.3% of the global population and a
mere 1.1% of the worlds wealth.

Solutions to Using Oil (Renewable Energies)

HEP (Hydro-Electric

This uses fast flowing water to turn generators to produce electricity.
Good: This type of energy makes little pollution.

Solar power is the conversion of the suns energy into electricity through a
solar cell.
Good: instant electricity and no harmful gases are produced so there is no
pollution

Biomass burns plants, trees and organic matter to heat steam to drive
turbines.

Good: sources are always available, It is a much cheaper source of energy
compared to fossil fuels and whilst it does release Carbon Dioxide, it produces
less than fossil fuels.

Wind power

Wind turns large turbine blades to generate electricity
Good-. Electricity produced is cheap in the long run, produced clean energy,
can be very effective in places with high winds

Nuclear Power

Nuclear energy is not renewable but is recyclable and a nuclear reaction
releases energy.
Good: little pollution is produced.





